S 2 Maths: Number: Multiplication and

. Division
Somerset Bridge Primary School .
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There are 69 tennis balls

packed in tubes of 3. I
69 ’
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Key Vocabulary

Factor Numbers that can
be multiplied
together to get
another number.

Multiple The product of one
number multiplied
by another.

Product The answer when
two numbers are
multiplied together.

Commutative  When you can swap
numbers and get
the same answer.

Formal Written Method

23 | 23 | 23
Formal written method 2-digit x 1-digit
start here
TOP TIP: the b 1sx
remainder I S\ nene-s
mus* bE Commutativity: when we multiply we can swap the | x 2)10x 6 =60
numbers around and still t the sam nswer. . 3)60+ 4t
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the divisor eee 3X2 = 2X3 ee
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A factor is a whole number that when multiplied by 8x4=32

another whole number makes a product

factor x factor = product
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.Y Y T. Maths: Measurement: Length

r Perimeter The distance around the
Somerset Bridge Primary School
Aspire - Bravle -g('uvol'COll:borGte a n d Pe rl m ete r Edge of a Shape'
1 . Distance The length along a line
Compare Lengths Spring Term: Year 4 O
10cm . | can work out the perimeter Length The size of an Object from
¢ ) because | know that rectangles one point.
6bmm < 6cm % have 2 equal long sides and 2
a Ben equal short sides. The perimeter Width The measurement of the
6cm = ﬁomm 6cm is 10cm x 2 add 6cm x 2 = 32cm. distance of a side of an
6émm is shorter than 6cm , _ _ object.
Ben is correct. We can use this formula:
length x 2 + width x 2 Rectilinear A shape that has straight
320cm > 2m 6cm - sides and right angles.
320cm > 200cm + 60cm - 1 kilometre = 1000 matres Right angle  An angle which is equal to
320cm is longer than 2m 60cm m 1 metre = 100 centimetres 90°.
cm 1 centimetre = 10 millimetres Convert To change the value from
98mm < 120mm + 3mm 30mm.

98mm is shorter than 12cm 3mm smm Height The vertical distance from

top to bottom.

120 cm i P W e | Compare Examine the difference
100 em 20 em between numbers,
guantities or value to
m 20cm decide how they are
different or the same.
m 20 cm l 10mm = 1cm ‘ ’ 4ecm 6mm ’ l 38mm ‘

~ _ 6 kilometr
1000m=1km 500 m =" km 4200 metre:me e[51800 mefres




Maths: Number: Fractions
Spring Term: Year 4
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Adding Fractions

Denominator

1el-2 P B Ui fraction
33 73 S .
-: . Non-unit
fraction
R Fifths
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Fractions of Quantities

"
L2348 1124344
£+2=£ 1105555155552
55 58 . .
012345678910 L1of20=5 2of20=10 3 0f20=15 “0of20=20
-I 5555555555 f ﬁf nf nf

To find a fraction of a num

Key Vocabulary

The number above the
line in a fraction.

The number below the
line in a fraction.

Any fraction with 1 as
the numerator.

A fraction where the
numerator is greater
than 1.

A fifth is one out of 5
equal parts.

A sixth is one out of 6
equal parts.

A fraction of the
whole.

Subtracting Fractlons
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T. YY T. Maths: Number: Decimals Key Vocabulary

Somerset Bridge Primary School Spring Term: Year 4 Tenths First digit to the right of

Aspire - Brave - Care - Collaborate the decimal point.

. s ae Hundredths A single part of
Dividing by 10 something that has

been divided into a

Tens Ones hundred parts.
0 1 2 3 4 5 6 7 8 9 10 .
8 5 - 1 O 10 10 10 10 10 16 10 16 16 10 10 Decimal Tenths 0.1
| | | | | | | | | Decimal The number that is 2
10 I l I I l I l I I Hundredths places to the right of the
I ; 0(/0.1 0.2 0.3 04 05 06 0.7 08 09 1 decimal point.
Tens Ones
Decimal point A point or dot used to
8 1 2 3 4 5 6 7 8 9 1 separate the whole part
10 100 100 100 100 100 100 100 100 100 10 of a number from the

fractional part.

Fraction and Decimal Equivalents

| I \ ! 7 | | 1 | | |
| j f f j | t 1 1 | |

0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1

| + 10 ’
Dividing by 100

1
= = = 0.5
Partitioning Tenths and Hundredths £
8 @ @ = % = 0.25
1r'Im = % = 0.75
- 1 _

+ 100 ‘

If the tenths digitis 1, 2, 3,
or 4, we round down to 0 < 0.1 0.2 0-3 0.4 0.5 0-6 0.7 0.8 0.9 1
the nearest whole

number




